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ÍÛæ̃ Û¶ÛÛ :   ¼ÛµÛÛ ¸ÛóÊ¶ÛÛé¶ÛÛ× •Ûä̈ Û ÍÛÁõ”ÛÛ ™öé.  

Instruction : All questions carry equal marks. 

 

1. ¸ÛýÛÛÙÈÛÁõ¨Û, Ü¶ÛÈÛÍÛ¶Û©Û×ªÛ …¶Ûé ¸ÛÜÁõÜÍ¬ÛÜ©Û ÜÈÛßÛÛ¶Û¶ÛÛé …¬ÛÙ Í¸ÛÌ¤ø ïõÁõà ¸ÛýÛÛÙÈÛÁõ¨Û …¶Ûé …ÛÜ¬ÛÙïõ ÜÈÛïõÛÍÛ 
ÈÛ˜˜Ûé¶ÛÛé ÍÛ×¼Û×µÛ ˜ÛïõÛÍÛÛé.  

 Explain the meaning of Environment, Ecosystem and Ecology and examine the 

relationship between environment and economic development.  

…¬ÛÈÛÛ/OR 

 ¸ÛýÛÛÙÈÛÁõ¨ÛàýÛ ÜÈÛ¶ÛÛÉÛ¶ÛÛ× ïõÛÁõ¨ÛÛé …¶Ûé ¸ÛýÛÛÙÈÛÁõ¨ÛàýÛ ÜÈÛ¶ÛÛÉÛ –Û¤øÛ¦øÈÛÛ¶ÛÛ× Š¸ÛÛýÛÛé ˜Û˜ÛÛë.  
 Discuss the causes and measures to reduce environmental degradation.  

 
2. (a) ÍÛÛ¾ÛÛÜ›÷ïõ ”Û˜ÛÙ-ÅÛÛ½Û ÜÈÛÊÅÛéÌÛ¨Û …×•Ûé ˜Û˜ÛÛÙ ïõÁõÛé.  
  Discuss social cost-benefit analysis.  

 (b) ¸ÛýÛÛÙÈÛÁõ¨ÛàýÛ …¬ÛÙÉÛÛÍªÛ¾ÛÛ× ¾Ûæ¦øà ÜÍÛ±ùÛ×©Û …×•Ûé ˜Û˜ÛÛÙ ïõÁõÛé.  
  Discuss the Capital Theory in Environmental Economics. 

…¬ÛÈÛÛ/OR 

 ¸ÛýÛÛÙÈÛÁõ¨ÛàýÛ ¾ÛæÅýÛÛ×ïõ¶Û¶Ûà ¸ÛóÈÛÛÍÛ”Û˜ÛÙ¶Ûà ¸Û±ùÜ©Û¶Ûà ÍÛ¾Ûà“ÛÛ ïõÁõÛé.  
 Evaluate the travel cost method of environmental valuation. 

 
3. ¸Ûà•ÛäÜÈÛýÛ¶Û ïõÁõÈÛéÁõÛ …¶Ûé ÍÛ¼ÛÍÛà¦øà …×•Ûé ˜Û˜ÛÛÙ ïõÁõÛé.  
 Discuss Pigouvian taxes and subsides. 

     …¬ÛÈÛÛ/OR 

 ïõÛé¡ö ¸Ûó¾ÛéýÛ (Ü¬ÛýÛÛéÁõ¾Û) ÍÛ¾Û›ÛÈÛÛé. 
 Explain Coase theorem. 
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4. ‘•Ûóà¶Û ÐüÛŠÍÛ …ÍÛÁ’õ …é¤øÅÛé ÉÛä× ? ÈÛíéÜÊÈÛïõ •ÛÁõ¾Ûà¶Ûà …ÍÛÁõÛé ˜ÛïõÛÍÛÛé.  
 What is ‘Green House Effect’ ? Examine the consequences of global warming.  

          …¬ÛÈÛÛ/OR 

 (a) …Ûé¡öÛé¶Û Í©ÛÁõ¾ÛÛ× •ÛÛ¼Û¦øÛ …×•Ûé ¶ÛÛêµÛ ÅÛ”ÛÛé.  

  Write a note on depletion of ozone layer.  

 (b) ©Ûé›Û¼Ûà ÈÛÁõÍÛÛþù¶Ûà ¸ÛýÛÛÙÈÛÁõ¨ÛàýÛ …ÍÛÁõÛé ˜Û˜ÛÛë.  

  Discuss the environmental consequences of acid rain. 

 
5. (a) ”ÛÛÅÛà ›÷•ýÛÛ ¸ÛæÁõÛé ƒ 

  Fill in the blanks :  

  (1) ¸Ûè¬ÈÛà¶Ûà ÍÛ¸ÛÛ¤øà¶ÛÛé ÍÛ¾ÛÛÈÛéÉÛ ________¾ÛÛ× ¬ÛÛýÛ ™öé.  

    (¾ÛèþùÛÈÛÁõ¨Û, ›÷íéÈÛ …ÛÈÛÁõ¨Û) 

   The upper crust of the earth is a part of _________. (lithosphere, biosphere) 

  (2) ________ ïäõþùÁõ©Ûà ÍÛ×̧ ÛÜ«Û¶Ûà …™ö©Û¶ÛÛ× ¸ÛóÊ¶Û ÍÛÛ¬Ûé ÍÛ×ïõÇÛýÛéÅÛ ™öé.  

    (¶ÛÛ¨ÛÛÈÛÛþùà ÜÈÛ˜ÛÛÁõµÛÛÁõÛ / ¸ÛýÛÛÙÈÛÁõ¨ÛÉÛÛÍªÛàýÛ ÜÈÛ˜ÛÛÁõµÛÛÁõÛ) 

   ________ is concerned with the problem of scarcity of natural resources. 

(Monetarist school of the thought / Ecological school of thought) 

  (3) ŠÌ¾ÛÛ•ÛÜ©Ûïõ ÜÈÛßÛÛ¶Û¾ÛÛ× Ü¶ÛýÛ¾Û ¾Ûä›÷¼Û Œ›ÛÙÉÛÜî©Û¶Ûé Š©¸Û¶¶Û ïõÁõÈÛà ïéõ ©Ûé¶ÛÛé ÜÈÛ¶ÛÛÉÛ ïõÁõÈÛÛé 
_______. (ÉÛîýÛ ™öé  / ÉÛîýÛ ¶Û¬Ûà) 

   According to Law of Thermodynamics it is _________ to create or destroy 

energy. (possible/not possible) 

  (4) ÍÛÛ¾ÛÛÜ›÷ïõ ”Û˜ÛÙ = ”ÛÛ¶Û•Ûà ”Û˜ÛÙ + _________ ¼ÛÛÔ …ÍÛÁõÛé.  

    (¶ÛïõÛÁõÛ©¾Ûïõ, ÐüïõÛÁõÛ©¾Ûïõ) 

   Social cost = Private cost + _________ externalities. (negative / positive) 

  (5) ›×÷•ÛÅÛÛé ______ ÍÛ×ÍÛÛµÛ¶Û ™öé. (¸Ûä¶Ûƒ …¸ÛóÛ¸ýÛ / ¸Ûä¶Ûƒ ¸ÛóÛ¸ýÛ) 

   Forests are _________ resources. (non-renewable / renewable) 

  (6) ________ ÍÛÛíé¬Ûà ¶ÛäïõÍÛÛ¶ÛïõÛÁõïõ •Ûóà¶Û ÐüÛŠÍÛ ÈÛÛýÛä ™öé.  

    (…ÛéÜîÍÛ›÷¶Û, ïõÛ¼ÛÙ¶Û ¦øÛýÛÛéîÍÛÛˆ¦ø) 

   ________ is the most harmful green house gas. (Oxygen, Carbon dioxide) 

  (7) ÍÛÅºõÁõ …ÛéîÍÛÛˆ¦ø …¶Ûé ¸ÛÛ¨Ûà¶Ûä× ÍÛ×ýÛÛé›÷¶Û _______¾ÛÛ× ºéõÁõÈÛÛýÛ ™öé. (…éÍÛà¦ø, ¾ÛÁõîýÛäÁõà) 

   Sulphur oxide combined with moisture turns into _________. (acid / 

mercury) 
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 (b) ¶Ûà˜Ûé¶ÛÛ× ÜÈÛµÛÛ¶ÛÛé ÍÛÛ˜ÛÛ ™öé ïéõ ”ÛÛé¤øÛ× ©Ûé þùÉÛÛÙÈÛÛé ƒ 

  State whether the following statements are true or false : 

  (1) ¸ÛýÛÛÙÈÛÁõ¨Û ©Û¬ÛÛ ©Ûé¾ÛÛ× ÁõÐéüÅÛà ›÷íéÜÈÛïõ ÍÛèÜÌ¤ø ÈÛ˜˜Ûé¶ÛÛ× ÍÛ×¼Û×µÛ¶Ûé Ü¶ÛÈÛÍÛ¶Û©Û×ªÛ ©ÛÁõàïéõ …ÛéÇ”ÛÈÛÛ¾ÛÛ× 
…ÛÈÛé ™öé.  

   The relationship between environment and it’s living organisms is known as 

ecosystem. 

  (2) ÁõÛÍÛÛýÛÜ¨Ûïõ ”ÛÛ©ÛÁõ …¶Ûé ›×÷©Ûä¶ÛÛÉÛïõ þùÈÛÛ…Ûé¶ÛÛ× Š¸ÛýÛÛé•Û¬Ûà ÅÛÛ×¼Ûé •ÛÛÇé ›÷¾Ûà¶Û¶Ûà ºõÇ®äù¸Û©ÛÛ 
¸ÛÁõ ÜÈÛ¸ÛÁõà©Û …ÍÛÁõ ¬Ûˆ ÉÛïéõ ™öé.  

   Use of chemical fertilizers and pesticides can adversely affect the fertility of 

land in the long run. 

  (3) šýÛÛÁéõ ”ÛÛ¶Û•Ûà ÍÛà¾ÛÛ¶©Û ”Û˜ÛÙ, ÍÛà¾ÛÛ¶©Û ÍÛÛ¾ÛÛÜ›÷ïõ ”Û˜ÛÙ ïõÁõ©ÛÛ× ÈÛµÛà ›ÛýÛ ©ýÛÛÁéõ ¶ÛïõÛÁõÛ©¾Ûïõ 
¼ÛÛÔ …ÍÛÁõÛé ŠþÕù½ÛÈÛé ™öé.  

   Negative externalities arise when private marginal costs exceed marginal 

social cost. 

  (4) ¾ÛÛé¤øÛ½ÛÛ•Û¶Ûà ÍÛÈÛë“Û¨Û …ÛµÛÛÁõà©Û ¸ÛýÛÛÙÈÛÁõ¨ÛàýÛ ¾ÛæÅýÛÛ×ïõ¶Û ¸Û±ùÜ©Û…Ûé ÍÛ×½ÛÛÈýÛ ¾ÛæÅýÛÛ×ïõ¶Û¶Ûà 
¸Û±ùÜ©Û…Ûé ™öé.  

   Most survey based techniques are examples of contingent valuation method 

of environmental valuation. 

  (5) ¸ÛÛéÌÛ¨Û“Û¾Û ÜÈÛïõÛÍÛ (¤øïõÛŠ ÜÈÛïõÛÍÛ) …é¤øÅÛé ½ÛÜÈÛÌýÛ¶Ûà ¸Ûé§øà…Ûé¶Ûà ›÷ÄõÜÁõýÛÛ©ÛÛé¶ÛÛé ½ÛÛé•Û 
…Û¸Ûà¶Ûé ÈÛ©ÛÙ¾ÛÛ¶Û ¸Ûé§øà¶Ûà ›÷ÄõÜÁõýÛÛ©ÛÛé ÍÛ×©ÛÛéÌÛÈÛà ©Ûé.  

   Sustainable development means meeting the needs of the present generation 

by compromising the needs of the future generations. 

  (6) ÍÛÜÐüýÛÛÁõÛ ˜ÛÁõÛ¨Û¶ÛÛé ÜÈÛÍ©ÛÛÁõ (•ÛÛé̃ ÛÁõ) ÍÛÛ¾ÛäþùÛÜýÛïõ ÍÛ×̧ ÛþùÛ ÍÛ×ÍÛÛµÛ¶Û ¶Û¬Ûà.  

   Common grazing grounds are not common property resources. 

  (7) ïõÛé̂ ¸Û¨Û Ü¶ÛÈÛÍÛ¶Û©Û×ªÛ¶ÛÛ× ÍÛ×©ÛäÅÛ¶Û ¾ÛÛ¤éø ›÷íéÈÛÈÛíéÜÈÛµýÛ …©ýÛ×©Û ¾ÛÐü«ÈÛ¸Ûæ̈ ÛÙ ™öé.  

   Biodiversity is crucial to the balance of any ecosystem. 

______________ 
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